PRE-QUIZ NUMBER THREE – CHAPTERS 17 AND 18    Name ____________________________
ACCT. 102 - PROFESSOR FARINA

CHAPTER SEVENTEEN
True-False:
The following statements are either true or false. Place a (T) in the parentheses before each true statement and an (F) before each false statement.
1.
(   ) 
Overhead costs are not directly related to production and can, therefore, be traced directly to units of product.

2.
(   ) 
The plantwide overhead rate method combines overhead costs into one overhead cost pool.

3.
(   )
The departmental overhead rate method uses the same overhead rate for each department.

4.
(   ) 
Compared to the plantwide overhead rate, the departmental overhead rate method usually results in more accurate overhead allocations.

5.
(   ) 
A cost pool is a collection of costs that are related to the same or similar activity.

6.
(   ) 
Activity-based costing produces significant benefits in addition to providing more useful cost allocations.

7.
(   ) 
In ABC, the more activities that are tracked, the less accurately overhead costs are assigned.

8.
(   ) 
In ABC, costs related to the same driver are pooled.

Multiple Choice:

A company has two departments, machining and assembly.  The total overhead costs are $4,000,000 for the machining department and $2,000,000 for the assembly department.  Projected total units are 500,000 machine hours (machining department) and 100,000 direct labor hours (assembly department).  Compute the machining and assembly department’s overhead rate.


1. 


a. 
$20 per machine hour for the machining department and $8 per direct labor hour for the assembly department.

b. $8 per machine hour for the machining department and $20 per direct labor hour for the assembly department.

c.
$40 per machine hour for the machining department and $4 per direct labor hour for the assembly department.

d.
$4 per machine hour for the machining department and $40 per direct labor hour for the assembly department.

e. 
$20 per direct labor hour for the machining department and $8 per machine hour for the assembly department.


2.
Townsend Building Company decides to begin using the ABC  method.  The company has identified three activity cost pools and their related activity drivers for each cost pool.  Based on the following information, compute the activity rate for each cost pool:

	Activity Cost Pool
	Overhead Costs
	Number of Activities

	Design changes
	$   500,000
	5 Designs

	Setups
	$1,500,000
	100 Batches

	Plant services
	$1,000,000
	25,000 Square feet


	
	
	Design 

changes
	Setups
	Plant

Services

	
	a.
	$600,000
	$30,000
	$120,000

	
	b.
	$50,000
	$15,000
	$120,000

	
	c.
	$100,000
	$15,000
	$40

	
	d.
	$50,000
	$15,000
	$40,000

	
	e.
	None of the above.


Short problem #1:

Head-to-Toe Clothing Manufacturers identified three activity cost pools along with their related cost driver.  The following information is available related to these cost pools:

	
	Overhead Costs
	Number of

Activities

	Design changes

	$2,500,000
	100 Designs

	Setups

	1,000,000
	1,000 Batches

	Plant services

	750,000
	7,500 Square Feet

	Total

	$4,250,000
	

	
	
	


Head-to-Toe produces two types of athletic shoes, Shoe A and Shoe B.  First compute the activity rate for each activity, then allocate the total overhead costs based on the ABC method according to the information shown below:

	
	Shoe A
	Shoe B

	
	Activities
Consumed
	Activity
Rate
	Allocated
Cost
	Activities
Consumed
	Activity
Rate
	Allocated
Cost

	Design changes
	75
	
	
	25
	
	

	Setups
	250
	
	
	750
	
	

	Plant services
	3,500
	
	
	4,000
	
	

	Total Allocated
Cost
	
	
	
	
	
	


Brief Essay:

King Soda Company manufactures soft drinks. Information from the accounting records about two products is as follows:

Product Name

Volume
               
    Sales price/case 
   Gross profit/case
Jamaican Punch

10,000 cases


$30


$12

King Kola

800,000 cases


$30


$12

Both products have the same direct materials and direct labor costs per case. King Soda Company allocates factory overhead to products using a single plantwide factory overhead rate. The single plantwide factory overhead rate is based on direct labor cost. Additional information about the two products follows:

Jamaican Punch: Requires extensive process preparation and sterilization prior to processing. The ingredients are from Jamaica, requiring complex import controls and administrative oversight. The formulation is complex, and quality control costs are high. The product is sold in small orders (less than a full truckload). 

King Kola: Requires minor process preparation prior to processing. The ingredients are acquired locally. The formulation is simple, and it is easy to maintain quality. The product is sold in large bulk orders (full truckload).

REQUIRED:

(1.) Considering the additional information, how accurate is the gross profit per case data?

(2.) How would inaccurate gross profit per case data affect the pricing for Jamaican Punch and King Kola?

(3.) Would using activity-based costing most likely result in different gross profit per case data?
	

	

	

	

	

	

	

	

	

	

	

	

	

	


CHAPTER 18
True-False:
The following statements are either true or false. Place a (T) in the parentheses before each true statement and an (F) before each false statement.
1. 
(  ) 
An example of a step-wise cost is a sales representative's compensation that consists of a constant salary amount and a commission based on the amount sold.

2. 
(  ) 
In traditional cost-volume-profit analysis, the level of activity is described in terms of sales volume (either in units or dollars).

3. 
(  ) 
Traditional cost-volume-profit analysis is based on an assumption that all costs behave as if they are either truly fixed or variable.

4.
(  ) 
A scatter diagram plots past cost and unit volume points on a graph.

5. 
(  ) 
The high-low method of finding the estimated line of cost behavior is preferable because it takes into consideration every point on the scatter diagram.

6.
(  ) 
The break-even point in units can be calculated by dividing expected fixed costs by the expected contribution margin ratio.

7. 
(  ) 
A loss is represented on a CVP chart by the vertical distance between the sales line and total cost line to the right of the break-even point.

8.
(  ) 
The margin of safety is the excess of current sales over expected sales.

9.
(  ) 
A multiproduct break-even analysis treats a composite unit as a unit of a single product.

Multiple Choice:


1.
Functional Design Furniture Company sells a product for $80 per unit and incurs $55 of variable costs per unit sold. If fixed costs are $8,500 per month, what is the break-even sales volume in terms of dollars?

a. 
$340

b. 
$5,037

c. 
$12,364

d. 
$27,200

e. 
$680,000


2.
Greenside Up Company has monthly fixed costs of $11,700 and a 25% contribution margin ratio. Management has set a goal of earning a monthly after-tax income of $8,000. In order to have an $8,000 net income, the company must earn a pretax income of $12,000 and pay $4,000 in taxes. What level of sales is necessary to produce the target after-tax net income?

a. 
$30,800.

b.
$58,800.

c.
$78,800.

d.
$94,800.

e. 
$126,800.


3.
Slice Master Corp. expects to sell 7,200 units of its product in July for $15 each. Fixed costs for the month are expected to be $43,200 and budgeted variable costs are $7 per unit. What margin of safety (in dollars) does Slice Master expect for July?

a. 
$12,000 

b. 
$27,000 

c. 
$78,545 

d. 
$81,000 

e. 
None of the above.

Short problem #1:

The Lanier Company incurs $60,000 of annual fixed costs in manufacturing and selling a product that it sells for $15 per unit. The variable costs of manufacturing and selling the product are $9 per unit.

	1. 
	The contribution margin per unit is $_____________.

	
	
	

	2.
	The contribution margin ratio for the product is:
	

	
	
	$
	
	
	
	
	

	
	
	
	=
	
	%

	
	
	
	
	
	

	
	
	$
	
	
	
	
	

	
	
	

	3.
	The break-even point in units is:
	
	
	

	
	
	$
	
	
	
	
	

	
	
	
	=
	
	units

	
	
	
	
	
	

	
	
	$
	
	
	
	
	

	
	
	

	4.
	The break-even point in dollars is:
	
	
	

	
	
	$
	
	
	
	
	

	
	
	
	=
	$
	

	
	
	
	
	
	

	
	
	
	
	%
	
	
	

	
	
	
	
	
	
	
	

	
	
	

	5.
	Determine the amount of after-tax income that the Lanier Company would earn from a $420,000 sales volume. The income tax rate is 30% of pre-tax income. (Hint: see example at Exhibit 18.21.)
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